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1. Sarah made her grandmother a cake. The cake mix box will make one layer of cake that will feed 12 people. How many boxes will she need to make to feed 48 people a slice of cake? 
2. (-45) +15=
3.Use chips. (-8) (7)=	
4. Jetyia earns $5 every Friday after she helps her aunt wash clothes. At the end of four weeks she has earned $20. If Jetyia misses two days of work, how much would she have earned? 			
5. What is the absolute value of |45│?
6. Timbra climbs 15ft off the ground using a ladder. The ladder has only 8 steps. If she only needed to use 5 steps what is the number of steps remaining? 

				 
7. Dion has received his Math score. If we calculate his grades of 100, 80,  and 90, he will get an average grade of __________.				
8. │13│+ │-13 │= 
9. -28 ÷ (-7)=
10. Will (-5) + (6) have a positive or negative answer?
11. Solve -6 X 2+ 4=  
12. Explain the steps for solving this problem: 24 – (-13). Make sure you explain your answer.
13.  Tim is growing pumpkins for Halloween he has 25 seeds. He plants them all but 13 didn’t sprout. Write an equation and answer.
14.  7 + (-7) =
15. Solve. 81 ÷ 9 +10 – 2 =
